Publ. Math. Debrecen 85/3-4 (2014), 425–433 DOI: 10.5486/PMD.2014.6022

Groups, partitions and representation functions

By SÁNDOR Z. KISS (Budapest), ESZTER ROZGONYI (Budapest) and CSABA SÁNDOR (Budapest)

Abstract. Let X be a semigroup written additively and $h \ge 2$ a fixed integer. Let x be an element of X and A_1, \ldots, A_h be nonempty subsets of X. Let $R_{A_1+\cdots+A_h}(x)$ denote the number of solutions of the equation $a_1 + \cdots + a_h = x$, where $a_i \in A_i$. In this paper for $X = \mathbb{N}$ we give a necessary and sufficient condition such that the equality $R_{A_1+A_2}(n) = R_{X \setminus A_1+X \setminus A_2}(n)$ holds from a certain point on. We study similar questions when $X = \mathbb{Z}_m$ and in general when X = G, where G is a finite additive group.

1. Introduction

Let X be a semigroup, written additively. Let A_1, \ldots, A_h be nonempty subsets of X and let x be an element of X. We denote by |A| the cardinality of the set A. We define the ordered representation function

$$R_{A_1 + \dots + A_h}(x) = |\{(a_1, \dots, a_h) \in A_1 \times \dots \times A_h : a_1 + \dots + a_h = x\}|.$$

If $A_i = A$ for i = 1, ..., h, then we write

$$R_{A,h}^{(1)}(x) = |\{(a_1, \dots, a_h) : a_i \in A, \ a_1 + \dots + a_h = x\}|.$$

Let X be an abelian semigroup, written additively. For $A \subset X$, let A^h denote the set of all h-tuples of A. Two h-tuples $(a_1, \ldots, a_h) \in A^h$ and $(a'_1, \ldots, a'_h) \in A^h$ are equivalent if there is a permutation $\alpha : \{1, \ldots, h\} \rightarrow \{1, \ldots, h\}$ such that

Key words and phrases: group, partition, representation function.

Mathematics Subject Classification: 11B34.

The first author was supported by the OTKA Grants No. K77476 and No. NK105645. The third author was supported by the OTKA Grant No. K109789.

 $a_{\alpha(i)} = a'_i$ for i = 1, ..., h. Two other representation functions arise often and naturally in additive number theory. The unordered representation function $R^{(2)}_{A,h}(x)$ counts the number of equivalence classes of h-tuples $(a_1, ..., a_h)$ such that $a_1 + ... + a_h = x$. The unordered restricted representation function $R^{(3)}_{A,h}(x)$ counts the number of equivalence classes of h-tuples $(a_1, ..., a_h)$ of pairwise distinct elements of A such that $a_1 + \cdots + a_h = x$. It is easy to see that the definitions of the unordered and the unordered restricted representation functions make sense only in Abelian groups.

Alternative definitions for $R_{A,2}^{(2)}(x)$ and $R_{A,2}^{(3)}(x)$ are the following. Denote by

$$D_A(x) = |\{a : a \in A, a + a = x\}|$$

then

$$R_{A,2}^{(2)}(x) = \frac{1}{2}R_{A,2}^{(1)}(x) + \frac{1}{2}D_A(x)$$
(1)

and

$$R_{A,2}^{(3)}(x) = \frac{1}{2}R_{A,2}^{(1)}(x) - \frac{1}{2}D_A(x).$$
(2)

Let \mathbb{N} be the set of nonnegative integers. Let $X = \mathbb{N}$. Sárközy asked if there exist two sets A and B with $|A\Delta B| = \infty$ such that $R_{A,2}^{(i)}(n) = R_{B,2}^{(i)}(n)$, for i = 1, 2, 3 and for all sufficiently large n. For i = 2 DOMBI [3] proved that the answer is positive and for i = 1 the answer is negative. For i = 3 CHEN and WANG [1] proved that the set of natural numbers can be partitioned into two subsets A and B such that $R_{A,2}^{(3)}(n) = R_{B,2}^{(3)}(n)$ for every n large enough. Lev [5] and independently SÁNDOR [6] characterized all subsets $A \subset \mathbb{N}$ such that $R_{A,2}^{(2)}(n) = R_{\mathbb{N}\setminus A,2}^{(2)}(n)$ or $R_{A,2}^{(3)}(n) = R_{\mathbb{N}\setminus A,2}^{(3)}(n)$ for big enough n. The precise theorems are the following.

Theorem (LEV, SÁNDOR, 2004). Let $X = \mathbb{N}$. Let N be a positive integer. The equality $R_{A,2}^{(2)}(n) = R_{\mathbb{N}\setminus A,2}^{(2)}(n)$ holds for $n \ge 2N-1$ if and only if $|A \cap [0, 2N-1]| = N$ and $2m \in A \Leftrightarrow m \in A, 2m+1 \in A \Leftrightarrow m \notin A$ for $m \ge N$.

Theorem (LEV, SÁNDORN, 2004). Let $X = \mathbb{N}$. Let N be a positive integer. The equality $R_{A,2}^{(3)}(n) = R_{\mathbb{N}\setminus A,2}^{(3)}(n)$ holds for $n \ge 2N-1$ if and only if $|A \cap [0, 2N-1]| = N$ and $2m \in A \Leftrightarrow m \notin A, 2m+1 \in A \Leftrightarrow m \in A$ for $m \ge N$.

TANG [4] gave an elementary proofs of LEV and SÁNDOR's results. In [7], [8], [9], [10]. CHEN and YANG studied related problems about weighted representation functions. Similar statement to the above theorems can not be formulated for the representation function $R_{A,2}^{(1)}(n)$ because $R_{A,2}^{(1)}(n)$ is odd if and only if $\frac{n}{2} \in A$, therefore either $R_{A,2}^{(1)}(2m)$ or $R_{\mathbb{N}\setminus A,2}^{(1)}(2m)$ is odd. A nontrivial result is the following in this direction.

Theorem 1. Let $X = \mathbb{N}$. The equality $R_{A+B}^{(1)}(n) = R_{\mathbb{N}\setminus A+\mathbb{N}\setminus B}^{(1)}(n)$ holds from a certain point on if and only if $|\mathbb{N}\setminus (A\cup B)| = |A\cap B| < \infty$.

The modular questions were solved by CHEN and YANG [3].

Theorem (CHEN, YANG, 2012). Let $X = \mathbb{Z}_m$. The equality $R_{A,2}^{(1)}(n) = R_{\mathbb{Z}_m \setminus A,2}^{(1)}(n)$ holds for all $n \in \mathbb{Z}_m$ if and only if m is even and |A| = m/2.

Theorem (CHEN, YANG, 2012). Let $X = \mathbb{Z}_m$. For $i \in \{2, 3\}$, the equality $R_A^{(i)}(n) = R_{\mathbb{Z}_m \setminus A}^{(i)}(n)$ holds for all $n \in \mathbb{Z}_m$ if and only if m is even and $t \in A \Leftrightarrow t + m/2 \notin A$ for $t = 0, 1, \ldots, m/2 - 1$.

We extend the first theorem to arbitrary finite group G and the second theorem to finite Abelian group.

Theorem 2. Let X = G be a finite group. Then

- (i) If there exists a $g \in G$ for which the equality $R_{A+B}(g) = R_{G\setminus A+G\setminus B}(g)$ holds, then |A| + |B| = |G|.
- (ii) If |A| + |B| = |G|, then the equality $R_{A+B}(g) = R_{G\setminus A+G\setminus B}(g)$ holds for all $g \in G$.

We generalize Chen and Yang's theorems in the following way.

Theorem 3. Let X = G be a finite group and $h \ge 2$ a fixed integer.

- (i) If the equality $R_{A,h}^{(1)}(g) = R_{G\setminus A,h}^{(1)}(g)$ holds for all $g \in G$, then |G| is even and |A| = |G|/2.
- (ii) If h is even and |A| = |G|/2 then $R_{A,h}^{(1)}(g) = R_{G\setminus A,h}^{(1)}(g)$ holds for all $g \in G$. The case when h is odd is still open.

The case when *n* is odd is still open.

Problem. Let h > 1 be a fixed odd positive integer. Let G be an Abelian group and $A \subset G$ be a nonempty subset. Does there exist a $g \in G$ such that $R_{A,h}^{(1)}(g) \neq R_{G\setminus A,h}^{(1)}(g)$?

When h is odd we can only prove the following weaker result.

Theorem 4. Let $X = \mathbb{Z}_m$ and h > 2 be a fixed odd integer. If $A \subset \mathbb{Z}_m$ such that |A| = m/2 then there exists a $g \in \mathbb{Z}_m$ such that $R_{A,h}^{(1)}(g) \neq R_{\mathbb{Z}_m \setminus A,h}^{(1)}(g)$.

It would be interesting to characterize all that partitions of a finite Abelian group G such that $R_{A_i,h}^{(1)}(g) = R_{A_i,h}^{(1)}(g)$ for every $g \in G$.

Problem. Let G be an Abelian group and $h \ge 2$. Characterize all the partitions of G into pairwise disjoint sets A_1, A_2, \ldots, A_h such that for every $g \in G$ and for every $1 \le i, j \le h$, $R_{A_i,h}^{(1)}(g) = R_{A_j,h}^{(1)}(g)$.

For the two other representation functions we have the following result.

Theorem 5. Let X = G be a finite Abelian group. For $i \in \{2,3\}$ the equality $R_A^{(i)}(g) = R_{G \setminus A,2}^{(i)}(g)$ holds for every $g \in G$, if and only if $D_A(g) = D_{G \setminus A}(g)$ for every $g \in G$.

2. Proofs

PROOF OF THEOREM 1. Let $A(x) = \sum_{a \in A} x^a$ be the generating function of the set A and let $B(x) = \sum_{b \in B} x^b$ be the generating function of the set B. It is easy to see that

$$A(x)B(x) = \left(\sum_{a \in A} x^a\right) \left(\sum_{b \in B} x^b\right) = \sum_{n=0}^{\infty} R_{A+B}(n)x^n.$$

Since

$$\frac{1}{1-x} - A(x) = \sum_{n=0}^{\infty} x^n - \sum_{a \in A} x^a = \sum_{a \in \mathbb{N} \setminus A} x^a,$$

and similarly

$$\frac{1}{1-x} - B(x) = \sum_{n=0}^{\infty} x^n - \sum_{b \in B} x^b = \sum_{b \in \mathbb{N} \setminus B} x^b,$$

it follows that

$$\left(\frac{1}{1-x} - A(x)\right) \left(\frac{1}{1-x} - B(x)\right) = \sum_{n=0}^{\infty} R_{\mathbb{N} \setminus A + \mathbb{N} \setminus B}(n) x^n$$

Hence the condition $R_{A+B}(n) = R_{\mathbb{N}\setminus A+\mathbb{N}\setminus B}(n)$ holds from a certain point on is equivalent to

$$A(x)B(x) - \left(\frac{1}{1-x} - A(x)\right)\left(\frac{1}{1-x} - B(x)\right) = p(x),$$

where p(x) is a polynomial with integral coefficients. This is equivalent to

$$A(x) + B(x) = \frac{1}{1-x} + p(x)(1-x).$$
(3)

Let

$$\frac{1}{1-x} + p(x)(1-x) = \sum_{n=0}^{\infty} x^n + \sum_{n=0}^{N} d_n x^n = \sum_{n=0}^{\infty} c_n x^n,$$

where $c_n = 0, 1$ or 2. As $\sum_{n=0}^{N} d_n = 0$, it follows that the equation (3) holds if and only if $c_n = 1$ except for finitely many integer n and the number of n for which $c_n = 0$ is equal to the number of n for which $c_n = 2$. This is equivalent to the condition $|\mathbb{N} \setminus (A \cup B)| = |A \cap B| < \infty$.

PROOF OF THEOREM 2. For a given $S \subset G$ we denote by χ_S its characteristic function, that is $\chi_S(g) = 1$ if $g \in S$ and $\chi_S(g) = 0$ if $g \notin S$ for every $g \in G$. It follows that $\chi_{G \setminus S}(g) = 1$ if $g \in G \setminus S$, i.e., $g \notin S$ and $\chi_{G \setminus S}(g) = 0$ if $g \notin G \setminus S$, i.e., $g \in S$. Thus we have

$$\chi_{G\setminus S} = 1 - \chi_S. \tag{4}$$

It is easy to see that

$$R_{A+B}(g) = \sum_{\substack{c+d=g\\c,d\in G}} \chi_A(c)\chi_B(d) = \sum_{c\in G} \chi_A(c)\chi_B(-c+g),$$
$$R_{G\setminus A+G\setminus B}(g) = \sum_{\substack{c+d=g\\c,d\in G}} \chi_{G\setminus A}(c)\chi_{G\setminus B}(d) = \sum_{c\in G} \chi_{G\setminus A}(c)\chi_{G\setminus B}(-c+g)$$

It follows from (4) that for every $g \in G$ we have

$$\begin{aligned} R_{A+B}(g) - R_{G\setminus A+G\setminus B}(g) &= \sum_{c \in G} \chi_A(c) \chi_B(-c+g) - \sum_{c \in G} \chi_{G\setminus A}(c) \chi_{G\setminus B}(-c+g) \\ &\sum_{c \in G} \chi_A(c) \chi_B(-c+g) - \sum_{c \in G} (1-\chi_A(c))(1-\chi_B(-c+g)) \\ &= \sum_{c \in G} \chi_A(c) + \sum_{c \in G} \chi_B(-c+g) - \sum_{c \in G} 1 = |A| + |B| - |G|. \end{aligned}$$

Hence if there exists a $g \in G$ such that $R_{A+B}(g) = R_{G \setminus A+G \setminus B}(g)$ then |A|+|B| = |G| and if |A|+|B| = |G| then $R_{A+B}(g) = R_{G \setminus A+G \setminus B}(g)$ for every $g \in G$. \Box

PROOF OF THEOREM 3.

$$R_{A,h}^{(1)}(g) = R_{G \setminus A,h}^{(1)}(g)$$
(5)

holds for all $g \in G$. It is clear that

$$\sum_{g \in G} R^{(1)}_{A,h}(g) = |A|^h,$$

and

$$\sum_{g \in G} R^{(1)}_{G \backslash A, h}(g) = |G \setminus A|^h.$$

It follows from (5) that $|A|^h = |G \setminus A|^h$ which implies |A| = |G|/2, which proves (i). In the part step we prove (ii). Assume that h is even. For h = 2 the statement

In the next step we prove (ii). Assume that
$$h$$
 is even. For $h = 2$ the statement follows immediately from Theorem 2. Let $h > 2$. Then we have

$$\begin{split} R^{(1)}_{A,h}(g) &= |\{(a_1, a_2, \dots, a_h) : a_i \in A, \ a_1 + \dots + a_h = g\}| \\ &= \sum_{\substack{g_1, \dots, g_{h/2} \in G \\ g_1 + \dots + g_{h/2} = g}} |\{(a_1, a_2, \dots, a_h) : a_i \in A, a_1 + a_2 = g_1, \dots \\ g_1, \dots, g_{h/2} \in G \\ &= \sum_{\substack{g_1, \dots, g_{h/2} \in G \\ g_1 + \dots + g_{h/2} = g}} |\{(a_1, a_2) \in A : a_1 + a_2 = g_1\}| \cdots |\{(a_{h-1}, a_h) \in A : a_{h-1} + a_h = g_{h/2}\}| \\ &= \sum_{\substack{g_1, \dots, g_{h/2} \in G \\ g_1 + \dots + g_{h/2} = g}} R^{(1)}_{A,2}(g_1) \cdots R^{(1)}_{A,2}(g_{h/2}) = \sum_{\substack{g_1, \dots, g_{h/2} \in G \\ g_1 + \dots + g_{h/2} = g}} R^{(1)}_{G\setminus A,2}(g_1) \cdots R^{(1)}_{G\setminus A,2}(g_{h/2}) \\ &= \sum_{\substack{g_1, \dots, g_{h/2} \in G \\ g_1 + \dots + g_{h/2} = g}} |\{(a_1, a_2) \in G \setminus A : a_1 + a_2 = g_1\}| \cdots \\ &= \sum_{\substack{g_1, \dots, g_{h/2} \in G \\ g_1 + \dots + g_{h/2} = g}} |\{(a_1, a_2) \in G \setminus A : a_{h-1} + a_h = g_{h/2}\}| \\ &= \sum_{\substack{g_1, \dots, g_{h/2} \in G \\ g_1 + \dots + g_{h/2} = g}} |\{(a_1, a_2, \dots, a_h) : a_i \in G \setminus A, \ a_1 + a_2 = g_1, \dots \\ &\dots, a_{h-1} + a_h = g_{h/2}, a_1 + \dots + a_h = g\}| \\ &= |\{(a_1, a_2, \dots, a_h) : a_i \in G \setminus A, \ a_1 + \dots + a_h = g\}| = R^{(1)}_{G\setminus A,h}(g). \quad \Box \\ & \text{PROOF OF THEOREM 4. We prove by contradiction. Assume that for every} \end{split}$$

PROOF OF THEOREM 4. We prove by contradiction. Assume that for every $g \in \mathbb{Z}_m, R_{A,h}^{(1)}(g) = R_{\mathbb{Z}_m \setminus A,h}^{(1)}(g)$. It is easy to see that

$$R_{A,h}^{(1)}(g) = |\{(i_1, i_2, \dots, i_h) : a_{i_1} + \dots + a_{i_h} \equiv g \mod m\}|$$
$$= \sum_{j=0}^{h-1} |\{(i_1, i_2, \dots, i_h) : a_{i_1} + \dots + a_{i_h} = g + jm\}|,$$

thus we have

$$\sum_{g=0}^{m-1} R_{A,h}^{(1)}(g) z^g = \sum_{g=0}^{m-1} \left(\sum_{j=0}^{h-1} |\{(i_1, i_2, \dots, i_h) : a_{i_1} + \dots + a_{i_h} = g + jm\}| \right) z^g.$$

It is clear that

$$A^{h}(z) = \sum_{j=0}^{h-1} \sum_{g=0}^{m-1} |\{(i_{1}, i_{2}, \dots, i_{h}) : a_{i_{1}} + \dots + a_{i_{h}} = g + jm\}|z^{g+jm}|$$

$$=\sum_{g=0}^{m-1}\sum_{j=0}^{h-1}|\{(i_1,i_2,\ldots,i_h):a_{i_1}+\ldots+a_{i_h}=g+jm\}|z^{g+jm}|$$

It follows that there exist $p_1(z)$ and $p_2(z)$ polynomials with integral coefficients such that

$$A^{h}(z) = (1 - z^{m})p_{1}(z) + \sum_{g=0}^{m-1} R^{(1)}_{A,h}(g)z^{g},$$

and similarly

$$(1 + \ldots + z^{m-1} - A(z))^h = (1 - z^m)p_2(z) + \sum_{g=0}^{m-1} R^{(1)}_{\mathbb{Z}_m \setminus A, h}(g)z^g$$

Thus we have

$$(A(z))^{h} - \left(\frac{1-z^{m}}{1-z} - A(z)\right)^{h} = (1-z^{m})(p_{1}(z) - p_{2}(z)) + \sum_{g=0}^{m-1} (R_{A,h}^{(1)}(g) - R_{\mathbb{Z}_{m} \setminus A,h}^{(1)}(g))z^{g}.$$

As $R_{A,h}^{(1)}(g) = R_{\mathbb{Z}_m \setminus A,h}^{(1)}(g)$ for every $g \in \mathbb{Z}_m$, we have

$$1 - z^{m} |(A(z))^{h} - \left(\frac{1 - z^{m}}{1 - z} - A(z)\right)^{h}.$$

Since $\frac{1-z^m}{1-z}|1-z^m$ and h is odd, we have

$$\frac{1-z^m}{1-z}|2(A(z))^h.$$

As the polynomial $\frac{1-z^m}{1-z} = 1 + \ldots + z^{m-1}$ has no multiple roots, we have

$$\frac{1-z^m}{1-z}|A(z),$$

which is a contradiction.

PROOF OF THEOREM 5. We only prove the case i = 2, because the proof of case i = 3 is very similar. For every fixed $g \in G$ we have

$$\begin{aligned} |A| &= |\{(a,y) : a \in A, y \in G, \ a+y = g\}| \\ &= |\{(a,y) : a \in A, \ y \in A, a+y = g\}| + |\{(a,y) : a \in A, \ y \in G \setminus A, \ a+y = g\}| \\ &= R_{A+A}(g) + R_{A+G \setminus A}(g) = 2R_{A,2}^{(2)}(g) - D_A(g) + R_{A+G \setminus A}(g), \end{aligned}$$

431

thus

$$R_{A,2}^{(2)}(g) = \frac{1}{2}|A| + \frac{1}{2}D_A(g) - \frac{1}{2}R_{A+G\setminus A}(g).$$

Replace A by $G \setminus A$ and using also the fact that $R_{A+G \setminus A}(g) = R_{G \setminus A+G \setminus (G \setminus A)}(g)$ we get

$$R_{G\setminus A,2}^{(2)}(g) = \frac{1}{2}|G\setminus A| + \frac{1}{2}D_{G\setminus A}(g) - \frac{1}{2}R_{A+G\setminus A}(g).$$

Hence for every $g \in G$ we have

$$R_{A,2}^{(2)}(g) - R_{G\backslash A,2}^{(2)}(g) = \frac{1}{2}|A| + \frac{1}{2}D_A(g) - \left(\frac{1}{2}|G\setminus A| + \frac{1}{2}D_{G\backslash A}(g)\right)$$
$$= |A| - \frac{1}{2}|G| + \frac{1}{2}(D_A(g) - D_{G\backslash A}(g)).$$

Suppose that $R_{A,2}^{(2)}(g) = R_{G\setminus A,2}^{(2)}(g)$ for every $g \in G$. Then we have

$$\binom{|A|+1}{2} = \sum_{g \in G} R_{A,2}^{(2)}(g) = \sum_{g \in G} R_{G \setminus A,2}^{(2)}(g) = \binom{|G \setminus A|+1}{2},$$

therefore $|A| = |G \setminus A|$, that is |A| = |G| - |A|. Hence we get that $D_A(g) = D_{G \setminus A}(g)$ for every $g \in G$.

Finally, suppose that $D_A(g) = D_{G \setminus A}(g)$ for every $g \in G$. Then we have

$$\begin{split} |A| &= |\cup_{g \in G} \{a : a \in A, \ a + a = g\}| = \sum_{g \in G} |\{a : a \in A, \ a + a = g\}| \\ &= \sum_{g \in G} D_A(g) = \sum_{g \in G} D_{G \setminus A}(g) = |G \setminus A|, \end{split}$$

therefore |A| = |G| - |A|, thus we get that $R_{A,2}^{(2)}(g) = R_{G\setminus A,2}^{(2)}(g)$ for every $g \in G$, which completes the proof.

References

- Y.-G. CHEN and B. WANG, On additive properties of two special sequences, Acta Arith. 110 (2003), 299–303.
- [2] Y.-G. CHEN and M. TANG, Partitions of natural numbers with the same representation functions, J. Numb. Theory 129 (2009), 2689–2695.
- [3] G. DOMBI, Additive properties of certain sets, Acta Arith. 103 (2002), 137–146.
- M. TANG, Partitions of natural numbers and their representation functions, *Discrete Math.* 308 (2008), 2614–2616.

- [5] V.F. LEV, Reconstructing integer sets from their representation functions, *Electronic J. Comb.* 11 (2004).
- [6] Cs. SÁNDOR, Partitions of natural numbers and their representation functions, Integers 4 (2004).
- [7] Q.-H. YANG and F.-J. CHEN, Partitions of Z_m with the same representation functions, Australas J. Comb. 53 (2012), 257–262.
- [8] Q.-H. YANG and Y.-G. CHEN, Partitions of the natural numbers with the same weighted representation functions, J. Numb. Theory **132** (2012), 3047–3055.
- [9] Q.-H. YANG and Y.-G. CHEN, Weighted representation functions on Z_m , Taiwanese J. Math. 17 (2013), 1311–1319.
- [10] Q.-H. YANG, Representation functions with different weights, *Colloquium Mathematicum* (to appear).

SÁNDOR Z. KISS INSTITUTE OF MATHEMATICS BUDAPEST UNIVERSITY OF TECHNOLOGY AND ECONOMICS H-1111 BUDAPEST, P.O.BOX 1529 HUNGARY AND MTA-BME LENDÜLET FUTURE INTERNET RESEARCH GROUP

E-mail: kisspest@cs.elte.hu

ESZTER ROZGONYI INSTITUTE OF MATHEMATICS BUDAPEST UNIVERSITY OF TECHNOLOGY AND ECONOMICS H-1111 BUDAPEST, P.O.BOX 1529 HUNGARY

E-mail: reszti@math.bme.hu

CSABA SÁNDOR INSTITUTE OF MATHEMATICS BUDAPEST UNIVERSITY OF TECHNOLOGY AND ECONOMICS H-1111 BUDAPEST, P.O.BOX 1529 HUNGARY

E-mail: csandor@math.bme.hu

(Received November 21, 2013; revised March 13, 2014)